






Our control volume considered here is the fictitious boundary 1 and 2, and the metal plate.
We are considering the metal plate here because air pressure is acting on both sides. The total pressure 
inside the plate is P_total = P_glue + P_air

Thus P_gage = P_glueF







Solution algebra on next page







Fluid 4 with density 
4 is from z=z_4 to 
z=z_1

Fluid 2 with density 
2 is from z=z_1 to 
z=z_B

Fluid 1 with density 
2 is from z=z_1 to 
z=z_B

Fluid 3 with density 
3 is from z=0 to 
z=z_1



Here we do a thought experiment that our 
triangular control volume is surrounded in fluid 
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Here we do a thought experiment that our 
triangular control volume is surrounded in fluid 
3
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